m 0|= 3 Mo HXZ0|

OO0 check up!

Z2t200[m] Q! 7k8 SHMETL UCE M 1 [m] S A= 2.0[ke 10| SLSIS2 ICHL St
C}. QIEZLE 4000 [ke] 2| MM ArEEt I O] =0t M| MH|ZO0|E Fol2t. (T, 2ATE2 2.2
ojct)
(1) o]%= [m] (2) AAle] AA1Ze] [m]
o WST 2x200°
1ol=: D o —8X4000—5.5[m]
2.2
g 55[m]
8D’ 8X55
A0 Al 0| - T — oY D
(2) MMo| AMIZO| 1 L=S+ 25 2007 - =200.403
g 200.4[m]
02 [
OO0 check up!
Z1 SFHMLU0| 345[kV], M2 SH0| 200[km] Q! AL 15MT Js6t SHMH2 B
[kW] 2IX| still2l0]] 2|5H 73tA|2.
© A2 V=55 066+ [KV]=345[kV]
345\°_ P 345\ P
@ (ﬁ) =0.6x200+7 55 = ( 5,5) =120+750
345 _r _ (345 _ _
® (—5) —120= - = P—{( 5_5> 120} X 100=2381471.074[ kW ]
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n

= 381471.07[kW ]



X{Ot7k5| — AX{C} X{Ot
m |_x:so°|' S vl OO0 check M?,‘

34 A UM MZ0)l HE 0.8, 180 [k W] QI 3EHY R Fol7H HEE|0f ULCL £
T HU0| 6000 [ V], HHTM 1222 X{50| 6], BIWEIAT 4[Q] 2f1 I SHT M2 &

(i)

~ 180x10°
/36000 0.8
V,=6000+3 X 21.65% (6X0.8+4%0.6) =6269.992[ V]

V,=V,+/3 I(Rcosf+ Xsin0), 1 =21.65[A]

n

g 6269.99[ V]

X{OITH5} — EEIx| 2
m HUZSH - 251 OO0 check up!

MM ICH0l o1 80[ 2] (KIAY), T 34 2617t UL A QST HRI0] 6600[ V], K25t
EXFQI0] 6000 V] I S5FHZ1 (kW] 27 (MM 1715fe] K3t 1.4[0], 2IAEIA 1.8[0],
7|E} MEFAE BAISICL)

e=V,—V,=6600—6000=600[ V]

exV,

_Pr T X xtanf
e,V(Rqutanﬁ) 2 P < tand

600 X 6000

0.6
1.4+18X% W

.. P= x107°=1309.09[kW ]

g 1309.09[kW]
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o751
m Hegors OO0 check up!

ST AT 22000[ V], MF 400[A], M=o Mt R=3[Q], E|HEA X =5[] Y I M
ALSE2 F (%] 7P (T, +HEL HE2 0.8 0|C})
B:](RcosﬁJrXsinﬁ) % 100
E,
~ 400%(3%x0.84+5%0.6) _ o
o= 52000 % 100=9.82[ %]
g 9.82[%]
» E

E.—E I(Rcosf+ Xsinf)

s Yo E HYYstEs Mol 3 o= ‘E =X 100= E x100
- HerEHRloR HeEIRE Aishe 3 o= Ve x 1gp= (3L ResEXeind)

M2 0| X{O} HE=
m HES B usE OO0 check up!

3 3MA SHM0f| 1442] X0 10[e], 2IAHAT}20[2] 0|21, ST 20| 6600( V], 4
T 401 6100 [ V] OIRAC). +=HTH2| F5lE B2 < =TT TR0 6300[ V], Fot HEO|
0.8% M Ct5 =301 HotAI2.

Q) AY HEE (%] :113} (2,
(2) o] 29 +A 7hsst A [kW]S TS 2.

(1) MUHEE = V;V ><100:6302;03100 X 100=3.28[ %]

g 3.28[%]
(2) MU e=V,—V,=6600—6100=500[ V]

P:R‘Fe)(VE o= 500X61%°6 x10*=122[ kW]
an 10+20x g

g 122[kW]
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OO0 check up!

T2} 22 HEMET}ICE 0] Mo HHANS B [kw] QK| HLIBHAIL.

2[e] 1@l 1,
A —ANN—TT00
6000[V]  6000[V] =
olo)  1la] | I, | 3&wet
B —A\\——T00 ¥ 832[kW]
6000LV] c0s0=0.8
2[e]  1[Q] | I,
C —\N\—T0I
A MleA
AL MEAAl P, =3*R0|11 [:LOIE
© == ¢ ' J3Vcost

832 % 10°

. 2 . T =
Py=3I'R 3X</§x6000x0,8

2
) x 2% 10 °=60.088 KW ]

E 60.09[kW]
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HI|71A R MUTIAL HT| 28E2] AMEXR 1504

X AAl - O35
m SRR mEe OO0 cheek up!

I 22 3 344 Mz} UL TS 2 2300 EHo L.

a E=
(B, ®M 17t=te] ME2 0.5[@/km] 2t2l SiCL)
/-A 10[A], cosf,=1
1[km]
ks S84
.\ i 20[Al, c0sf,=0.8
3.6[km]

2[km]

-C 20[Al, cosf:=0.9

(1) T=10420% (0.8—70.6) +20 X (0.9— jy1—0.97 ) = 44— j20.72

=/44°420.72° =48.63[A]

g 48.63[A]

(2) d2EM=grd &4+ AB &4+ BC &4
Py=3%48.63"%(05%3.6)+3x10°x (0.5X1)+3x20°% (0.5x2)=14120.34[ W]
g 14120.34[W]
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OO0 check up!

20[km]2| A2{0)l 10[%]

2XXQH3000[ V], = 0.82] H510f| X|= 5[mm ]2 ASMCR
O|LHS| MEAMER HU 4 Q= 34 M3 [kW] 2 FoIAIL.

4 4 20 10°

TAO| KEl R=px L= 1 —
Mol XMef R PX =X = X5 =18.52[Q]
4 4
P*x R
P,  V’xcosd PXR
Meaazs gt = .
HHEdE K P P V*x cos’d
V% cos’d S 3000”% 0.8
=K x5 x10°=01x"
P=K ® 10°=0.1 1852

HHAZEE 34 3MAl 25|M02 2
0.8(X[4}), 6000[kW] o] 34t S=i&

of7

SEYE 30[km] HOT X0 ST
b ULt O|m TM24&40] 10[%] & ZASIX| YT

x10°=31.1[kW]

g 31L1[kW]

OO0 check up!

M 30[kV],

i
N T

MO H7IE MHSIAR. (T, EX|(SM)2 TRAE2 1/65[Q-mm’/m] & FiTt)
(BM2| F7|[mm?])
16‘25‘35‘50‘70‘95‘120‘150
) P*XR
AL SN =3’ R=——""
MO Aol MEHEA Py=3I"R V% cos’d
P, PxR
S = PN —t__ -~
[ yu— =g K P VZXCOSZH
2 2 3\2 2
R=K x V2080 1 BUAOTXO8 g1
Exeooomos
[ C _ . [ 1 _30x10° )
—p IHES H o2t 2t . A=p—=— =
R pAOﬂ)d.__ﬁE?or_ fSotdot A PR=55% 1oz 28.41[mm?*]

g 35[mm?]
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rx
H>
-0

| ALHE2H 1504

000 check up!

w

o 34 STHMEV} QUC}. +TH HRJ0|60[k V], HE 80[%], HHE4E0[10[2%] 0|1 X

&2 0.3[Q/km], E[HEHAE 0.4[Q/km], T2 ZO0|= 20 [km] & Uff O] ST M= STH
HAZ H [kVIWOR

SMlsi &

V.=V, +{3 I(Rcosf+ Xsind) 0l T=F(1) Aot

; 0.1xy3V,cosf _ 0.1x/3 x60000x0.8
‘R= =0.1x/3V 0 = I= - =
3['R=0.1P=0.1x/3V,Icos 7 3R 3% 0.3% 20

=461.88[A]
V. =V, +/3 1(Rcosf+ Xsind)

=[60000+/3 X 461.88 % (0.3X 20X 0.8-+0.4%x20%0.6)]x10"°
=67.68[kV]

g 67.68[kV]
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